
Shroud Covers 
Weight Shifting Tilt

Before 3/1/00



Shroud Covers 
Weight Shifting Tilt

Before 3/1/00
Item #'s 1-3 Shroud Covers Before 3/1/00 Weight Shifting Tilt

Item
Number Description Bright Plum 

Metallic
Bright
Blue

Metallic
Blue

Green 
Chameleon

Candy
Apple 
Red

1085100-NLA
 

1080687-NLA
 

1080686-NLA
 

1080685
 

Side Panel
- Right1 See Note(s) B, A See Note(s) B, A See Note(s) C, A, B See Note(s) A, C, B

1085101-NLA
 

1080690-NLA
 

1080689-NLA
 

1080688-NLA
 

Side Panel
- Left1 See Note(s) A, B See Note(s) A, B See Note(s) A, C, B See Note(s) A, B, C

1085103-NLA
 1080696-NLA1080695-NLA1080694-NLABattery Cover2 See Note(s) C

1085102-NLA
 1080693-NLA1080692-NLA1080691-NLATrunk Lid3 See Note(s) C

A - Decals not included.  See page titled, "Packaging, Literature and Decals." 
B - Side Panel includes Rubber Bushing. 
C - Shrouds made before 3/1/00 are NLA.  See shrouds made after 2/29/00 and select color conversion package. 

NOTE:

Item
Number Part Number DescriptionNote

Quantity Per
Package Assembly

See Chart Item #'s 1-3 Shroud Covers Before 3/1/00 Weight
Shifting Tilt

1 11-3
1079197-NLA NLA - Bracket, Side Shroud, Black - Right 1 14
1079198-NLA NLA - Bracket, Side Shroud, Black - Left 1 14

1045267 Screw, Hex Head w/ Patch (1/4-20 x 3/4") 1 45
1028516 Washer, Steel (3/16 x 7/16 x 1/16") 1 26

7930332-NLA NLA - Locknut, High Profile (#10-32) 25 17
1070575-NLA NLA - Screw, SEMS w/ Washer (#10-32 x 7/8") 1 28
1070588-NLA NLA - Screw, Phillips Truss Head  (#10-32 x 1/2") 1 29

1028755 Screw, Phillips Pan Head (#10-32 x 5/8") 1 210
1070587 Washer, Flat (3/16 x 5/8 x 1/16") 1 211

1079196-NLA NLA - Hardware, Side Panel Attaching 1 1A,B
1070577-NLA NLA - Plate, Trunk Clip 1 212
1070588-NLA NLA - Screw, Phillips Truss Head  (#10-32 x 1/2") 1 613
7930332-NLA NLA - Locknut, High Profile (#10-32) 25 114
1070583-NLA NLA - Stud, Wing Head (3/4" Long) 1 215
1070581-NLA NLA - Washer, Nylon Cupped (9/32 x 19/32 x 3/32") 1 416
1070580-NLA NLA - Washer, Nylon Retainer (1/4 x 1/2 x 1/32") 1 417
1013497-NLA NLA - Fastener, Turn, Clip-On (1/4") 1 418
1070594-NLA NLA - Bushing, Rubber 1 219

40157X019-NLA NLA - Spacer, Coved (1/4 x 7/8 x 7/16") 1 220
A - Not Shown.  
B - Includes items 4-11 and 20.  

NOTE:

 


